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6HWLDS� SHUXVDKDDQ� DSDSXQ� EHQWXNQ\D� DNDQ� PHQJKDGDSL� ULVLNR��

7LQJNDW�SHUSXWDUDQ�NDU\DZDQ�\DQJ�WHUXV�PHQHUXV�WHUMDGL��EHG�RFFXSDQF\�UDWH�

�%25�� \DQJ� WLGDN� SHUQDK� WHUFDSDL�� ORORVQ\D� UHVHS� REDW� NHOXDU� GDUL�

56�6W�&DUROXV�� NHMDGLDQ� SDVLHQ� MDWXK�� PHGLFDWLRQ� \DQJ� WHUMDGL� VHWLDS� EXODQ�

PHUXSDNDQ� LQGLNDVL� ULVLNR� EDJL� OD\DQDQ� RSHUDVLRQDO� GL� 3.6&�� 5LVLNR� ELVD�

EHUDVDO� GDUL� GDODP� PDXSXQ� GDUL� OXDU� SHUXVDKDDQ�� 3HQHUDSDQ� PDQDMHPHQ�

ULVLNR�\DQJ�EHOXP�PHQ\HOXUXK�EHUSHQJDUXK� MXJD�SDGD�WLQJNDW�NHPDWDQJDQ�	�

SHPDKDPDQ� VHUWD DSOLNDVL� GLODSDQJDQ� 0HODOXL� LGHQWLILNDVL	� UHYLHZ� NRQWHNV�

EDLN� LQWHUQDO� PDXSXQ� HNVWHUQDO� SHUXVDKDDQ� GDSDW� PHQJHWDKXL� ULVLNR� \DQJ�

GLKDGDSL� GDODP� OD\DQDQ�� 5LVLNR� \DQJ� GLKDGDSL� DQWDUD� ODLQ�� ULVLNR� FDVK� IORZ��

ULVLNR� VGP�� ULVLNR� NHXDQJDQ�� ULVLNR� SURVHV�� ULVLNR� VLVWHP�GDQ� WHNQRORJL�� ULVLNR�

UHSXWDVL��ULVLNR�KXNXP�

'HQJDQ� PHODNXNDQ� DQDOLVLV� ULVLNR� VHUWD� SHQJXNXUDQQ\D� PDND� GDSDW�

GLNHWDKXL� SXOD� WLQJNDW� ULVLNR� \DQJ� GLKDGDSL� SHUXVDKDDQ� XQWXN� GLWLQGDNODQMXWL�

PHODOXL� SHQDQJDQDQ� VHUWD� PLWLJDVL�� 'HQJDQ� GHPLNLDQ� SHUXVDKDDQ� GDSDW�



ŝǆ

PHQJKDGDSL�VHUWD�PHQJDWDVL�VHJDOD�ULVLNR GDQ�PHQJXUDQJL�NHPXQJNLQDQ�GDQ�

GDPSDNQ\D�EDJL� SHUXVDKDDQ� 2OHK� VHEDE� LWX� SHUXVDKDDQ�SHUOX�PHPDVXNDQ�

PDQDMHPHQ� ULVLNR� GLGDODP� VWUXNWXU� RUJDQLVDVL� GDQ� PHPEHQWXN� NRPLWH� GDQ�

VDWXDQ� NHUMD�PDQDMHPHQ� ULVLNR� VHKLQJJD� GDSDW�PHPLQLPDONDQ� NHPXQJNLQDQ�

GDQ� GDPSDNQ\D� EDJL� SHUXVDKDDQ�� $JDU� � EHUKDVLO� SHQHUDSDQ� PDQDMHPHQ�

ULVLNR� GLSHUXVDKDDQ� SHUOX� NHWHJDVDQ�� NRPLWPHQ� GDUL� WRS� PDQDMHPHQ� XQWXN�

PHQJJHUDNDQ� VHOXUXK� NRPSRQHQ� \DQJ� DGD� GLGDODPQ\D� EDLN� VXPEHU� GD\D�

PDQXVLD��VLVWHP��LQIUDVWUXNWXU�VHUWD�NHVLDSDQ�GDQD�


